Total No. of Questions : 5] SEAT No. :

P1074 [Total No. of Pages : 4
[4963] - 3001

T.Y. B.Com.
BUSINESS REGULATORY FRAMEWORK (M. LAW)
(2013 Pattern) (Regular)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates :
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) State and Explain the various ways in which a contract may be said to be
discharged as per the Indian contract Act 18727 [16]

02) a) What are the rights of unpaid seller against the goods? [8]

b) Explain in brief rights of partners under the Indian Partnership Act, 19327
[8]

OR
a) Define ‘goods’ as per the Sale of Goods Act, 1930. Explain Various

kinds of goods with Suitable Examples?

b) Explain the provisions relating to the incorporation of limited liability
partnership under limited liability Partnership Act, 2008.

03) a) Explain in brief about Composition of District Forum along with its
jurisdiction powers and Functions under Consumer Protection Act 19867 [8]

b) State the characteristics and types of trademark? [8]
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OR

a) Who is a ‘consumer’ under consumer protection Act, 19867 What are
his rights?

b) Explain the importance of design as an intellectual property alongwith
its characteristics?

at do you Mean by "holder  an older 1 due course ! at are the
04) What d Mean by ‘holder’ and “holder in d ’? Wh h
privileges. of holder in due Course? [16]

05) Write Short Notes on (any two): [16]
a) Powers of arbitrators
b) Legal issues involved in E - Contracts
c) Programmes and activities of WIPO

d) ‘Defect in goods’ and ‘Deficiency in services’ under Consumer
protection Act, 1986
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Total No. of Questions : 4] SEAT No. :

P1075 [Total No. of Pages : 8
[4963] - 3002

T.Y. B.Com.
ADVANCED ACCOUNTING (Regular)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates :-

1)  All questions are compulsory.

2) Figures to the right indicate full marks.

3)  Use of calculator is allowed.

Q1) a) Answer in one sentence only (Any Five) : [10]
i)  Accounting standard 3 stands for what?
11) What are insured Standing Charges?
iil) What are Non - Performing Assets?
iv)  What do you mean by TDS?
v)  What is single entry system?

vi) Which ratio indicates short term Solvency of the business
enterprise?

vii) Why goods are invoiced to branch at the selling Price/Invoice
Price?

b)  Write Short Notes on (Any Two) : [14]
1)  Service Tax
i1) AS - 15 Employee Benefits
1i1) Core - Banking - System
1iv) VAT
v) Debt Equity Ratio
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02) Following is the Trial Balance of Rupee Bank Ltd as on 31% March 2015.[14]
Trial Balance

Particulars Debit Rs. | Credit Rs.
Fixed Deposit Accounts — 4.00,000
Current Deposits — 6,30,000
Savings Deposit Accounts - 3,10,000
Share Capital : 5000 Equity Shares

of Rs. 100 each - 5,00,000
Share Premium Account — 10,000
Investments at cost 2,35,000 -
Interium Dividend Paid 18,000 —
Dividend equalisation Reserve - 32,000
Profit & Loss Account (1/4/2014) - 40,000
Statutory Reserve — 40,000
Investment Fluctuation Fund - 70,000
Premises ILess Depreciation 4.04.000 —
Furniture Less Depreciation 40,000 -
Depreciation on Banking Assets 40,000 -
Interest Paid 75.000 -
Interest & Discount Received - 2,40,000
Director's Fees 7,000 —
Balance with RBI 3.10,000 —
Cash in Hand 3,40,000 —
Stationery & Printing 12,000 -
Rent, Taxes & Insurance 4,800 -
Salaries 72,000 -
Unexpired Discount — 4,000
Legal Expenses 3,900 —
Deposits with Other Banks 2,05,000 —
Bills Discounted & Purchased 54,000 -
Bills Receivable being bills for collections 1,77,000 1,77,000
Owing by Foreign Correspondents 21,000 -
Borrowings from other Banks — 61,000
Commission & Exchange — 1,42,000
Loans, Cash Credit & Overdraft 6,37,300 -
Total 26,56,000 (26,56,000
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Prepare Profit & Loss Account for the year ended 31% March 2015 and the
Balance sheet as on that date after considering the following adjustments.
1)  Interium dividend was declared at 4% actual
i1) Transfer Rs. 8,000 to Dividend Equalisation Reserve
ii1) Audit charges are outstanding to the extent of Rs. 5,000
1v) Provide Rs. 38,000 for taxation Reserve and Rs. 32,000 for doubtful Debts.
v) The Bank has accepted on behalf of the customers bills worth Rs.1,00,000
against the securities of Rs. 1,80,000 lodged with the bank
vi) The directors decided to show the investments at market value of
Rs. 1,90,000.
vii) Interest on doubtful debts Rs. 7,500 is included in Interest and Discount
Received Account.
OR
From the following Trial Balance of Urban Vikas credit co-operative society
Ltd. Pune prepare Profit and Loss Account for the year ended 31* March
2015 and Balance Sheet as on that date.
Trial Balance as on 31.3.2015

Particulars Debit Rs. | Credit Rs.
Salaries and Honorarium 79,600 —
Interest on deposits and Loans 3,32,000 -
Postage 1,000 -
Printing and Stationary 7,200 -
Office Expenses 7,500 -
Office Rent 6,300 -
Travelling Expenses 7,600 —
Meeting Expenses 1,600 —
Telephone Charges 4,000 —
Audit fees 1,000 -
Advertisements 1,400 -
Commission 120 -
Donation 200 —
Legal Charges 3,000 —
Insurance 1,600 -
Motor Tax 2,200 —
Sundry Expenses 1,400 -
Share Capital - 10,00,000
Interest Received - 5,80,900
Commission Received - 900
Dividend Received - 8,700
Reserve Fund - 71,000
Dividend Equalisation Reserve - 6,000
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Deposits :

Fixed - 9,16,000
Savings - 1,30,000
Loans and Overdrafts - 16,00,000
Development Fund - 29,000
Cash in Hand 16,000 —
Cash at Bank 2,91,000

Dividend Paid 40,000

P.D.C.C Bank Shares 2,00,000

Loans 32.,60,000 —
Motor Car 1,15,000 -
Stock of stationery 30,000 -
Profit for the year 2013 - 2014 - 67,220
Total 44,09,720 | 44,09,720

Additional Information :

1)  Provide depreciation on Motor Car Rs. 16,000

i1) Outstanding expenses were - Electricity charges Rs. 300, Office Rent

Rs. 500.

ii1) Prepaid Insurance amounted to Rs. 200
1v) Outstanding interest on Loans to members Rs. 5000

v) Dividend at 5% was declared on Share Capital of Rs. 9,00,000 as on

31/03/2014.

vi) Transfer 25% of the profit of 2013-14 to Reserve Fund.

[4963]-3002




03) a)

b)

A fire occurred in the premises of M/S Nagarwala on 15" October
2014. From the following particulars ascertain the loss of stock and

prepare a claim for insurance. [8]
Particulars Rs.
Stock on 1.1.2013 30,600
Purchases From 1.1.2013 to 31.12.2013 1,22,000
Sales from 1.1.2013 to 31.12.2013 1,80,000
Stock on 31.12.2013 27,000
Purchases from 1.1.2014 to 14.10.2014 1,47,000
Sales from 1.1.2014 to 14.10.2014 1,50,000

The stocks were always valued at 90 per cent of cost. The stock saved
was worth Rs. 18,000. The amount of the policy was Rs. 63,000.
There was an average clause in the policy.

X Ltd. Pune has a branch at Ahmednagar to which goods are supplied
at cost plus 20% profit. Prepare Branch Stock Account, Branch Debtors
Account, Branch Petty Cash Account, Branch Expenses Account and
Branch Adjustment Account in the books of X Ltd Head Office for

the year 2014-15 [14]
Particulars Rs.
Opening balances as on 1.4.2014

1)  Stock of Goods 42,000
i1) Debtor's 75,600
iii) Petty Cash 1,200
Goods invoiced to branch 2,52,000
Goods returned by branch 6,000
Cash Turnover 1,05,000
Sales to Credit Customers 1,70,400
Surplus in Stock 23,400
Cash received from Debtors 1,71,000
Allowances to customers 1,200
Discount allowed to Branch Debtors 9,000
Bad Debt Written off 3,000
Return from customers 3,000
Advertisement 6,000
Salaries 20,000
Rent (Including prepaid for 2015-16 Rs. 800) 8,000
Cash sent to branch for petty expenses 2,400
Commission paid 6,000
Closing balances as on 31/3/2015

I) Debtors 58,800
I) Petty Cash 600
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Q4) From the following Profit and Loss Account & Balance sheet of a company,
Calculate following ratios with its significance: [20]

1)  Current Ratio

i1) Operating Ratio

1) Stock Turnover Ratio
1v) Debtors Turnover Ratio
v) Liquid Ratio

vi) Gross Profit Ratio

vii) Net Profit Ratio

Trading & Profit and Loss Account for the year ended 31 March 2015

Dr. Cr.

Particulars Rs. | Particulars Rs.

To Opening stock 10,00,000 | By Sales 90,00,000

To Purchases 60,00,000 | By Closing Stock| 12,00,000
To Carriage Inwards 2,00,000
To Gross Profit 30,00,000

1,02,00,000 1,02,00,000

To Administrative By Gross Profit 30,00,000

Expenses 14,00,000 | By Sundry Income 1,00,000

To Selling & Distribution
Expenses 2,50,000

To Non - Operating

Expenses 50,000
To Net Profit 14,00,000
31,00,000 31,00,000
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Balance Sheet as on 31/3/2015

Liabilities Rs. [ Assets Rs.
Capital 20,00,000 | Land & Building |10,00,000
Reserve and Surplus 17,00,000 | Plant and Machinery| 12,00,000
Sundry Creditors 10,00,000 | Stock 12,00,000
Provision for Tax 2,00,000 | Debtors 12,00,000
Bills Payable 3,00,000 | Cash at Bank 6,00,000

52,00,000 52,00,000

OR

Mr. X maintained his accounts on single entry system. His balances for the
year ended 31* March 2014 and 31* March 2015 were as follows.

Particulars Rs. 31/3/2014 Rs. 31/3/2015
Bills Receivables 2,000 1,200
Stock 3,950 4,400
Creditors 4,700 4,175
Cash 1,954 981
Bills Payable 1,736 2,525
Debtors 4,680 4,178
Furniture 1,000 1,000

From his Cash book for the year 2014-2015, following information is

available

Particulars Rs.
Wages 450
Bills Payable 1,500
Bills Receivable 2,150
Miscellaneous Expenses 350
Salary 400
Investment Purchased 500
Sales 600
Purchases 300
Received from Debtors 1,225
Paid to Creditors 712
Miscellaneous Income 15
Drawings 750
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On enquiry you are told that in 2014 - 2015
1)  Discount Allowed Rs. 200

i1) Discount Received Rs. 178

ii1) Bills Payable Issued Rs. 2,290

iv) Bills Receivable Received Rs. 1,500

v) Bad Debts written off Rs. 280

vi) Bills Receivable dishonoured Rs. 150

You are required to prepare Trading Account, Profit and Loss Account for
the year ended 31/March/2015 and the Balance sheet as on that date.

Clodo
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Total No. of Questions : 5] SEAT No. :

P1076 [Total No. of Pages : 4
[4963] - 3003

T.Y. B.Com.
ECONOMICS

Indian and Global Economic Development
(2013 Pattern)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates :
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the place of Agriculture in the Indian Economy. [16]

02) What are the basic characteristics of the Indian Economy as an Emerging

Economy? [16]

OR
Explain the role of basic infrastructure in Economic Development in
India. [16]
Q3) a) State the Role of Human Resource in Economic Development. [8]
b) Explain current Export - Import Policy (EXIM Policy) [8]

OR
a) State the structure and functions of World Bank. [8]

b) Explain the importance of Foreign Trade in Economic Development.[8]

04) Explain the forms and need of Foreign Capital. [16]
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Q5) Write short notes on any two.

a)
b)
c)
d)

Evaluation of Industrial Policy 1991.

Convertibility of rupee on Current Account.

BRICS.

Role of Small Scale Industries in India.

P
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T.Y. B.Com.
ECONOMICS
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(2013 Pattern)
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Total No. of Questions : 5] SEAT No. :

P1077 [Total No. of Pages : 3
[4963] - 3004

T.Y. B.Com.

ECONOMICS
International Economics
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Draw diagrams wherever necessary.

Q1) Critically examine the comparative cost theory of International trade.  [16]

02) Explain in detail the meaning and scope of International economics. [16]
OR
Explain the factors affecting terms of trade. [16]

03) a) Explain the concept of Balance of trade and Balance of payments. [8]

b) Explain the structure of foreign exchange market. [8]
OR

a) Explain the role of Multi National Corporations. [8]

b) Explain the scope of Euro-Dollar Market. [8]
04) Explain in detail the merits and demerits of flexible exchange rate. [16]
05) Write short notes (any two) : [16]

a) IntraIndustrial trade.

b) SAARC.

c) Indias Foreign trade policy since 1991.
d) Convertibility of Rupee on current and Capital Account.

* ¥ *
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T.Y. B.Com.

ECONOMICS
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(2013 Pattern)
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Total No. of Questions : 5] SEAT No. :

P1078 [Total No. of Pages : 12
[4963] - 3005

T.Y. B.Com.

AUDITING AND TAXATION
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3)  Use of calculator is allowed.

Q1) Explain primary and secondary objectives of Auditing. [16]
OR

Explain the various types of Audit Reports.

02) Write Short Notes on (Any Four) : [16]
a) Types of Errors.
b)  Audit working papers.
c) Continuous Audit.
d) TaxAudit.
e) Importance of Auditing.
f)  Difference between Verification & Valuation of Assets.

g) Auditing in an EDP environment.
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03) A) Define the following terms : [8]
i)  Agricultural Income.
i) Assessment year.
i) Residential status of an individual.
iv) Capital gain.
OR

Rohit owns three houses for his residential purposes. The following are
the details of his houses.

Particulars House I | House II | House III
a) Muncipal valuation 40,000 50,000 60,000
b) Fair Rent 35,000 55,000 60,000
c) Standard Rent 30,000 60,000 58,000
(As per Rent Control Act)
d) Muncipal Taxes 14,000 5,000 5,000
e) Repairs - 8,000 16,000
f)  Ground Rent 15,000 — —

g) Interest on borrowed
capital on 1-4-2000 for
construction at the house - - 1,75,000

You are required to determine the taxable income from house property
of Mr. Rohit for Assessment year 2016-17

[4963]-3005 2



B) Mr. Shoham is the proprietor of a business.His P&L A/c for the year

ended on 31-3-16 are as followes. [8]
P& LA/
Particulars 4 Particulars 4
To Establishment 19,600 | By Gross profits 2,49,680
To Rent, Rates & Taxes| 15,800 | By Interest on Govt.
To Commission 26,100 Securities 10,800
To Household Exp. 13,460 | By Rent from House
To Discount & properties 20,700
Allowances 3,440
To Provision for
Bad debts 12,400
To Law charges 13,400
To Gift & presents
to employee 1,300

To Fire Insurance
premium (for goods 1,720
To Repairs & renewals

(for House) 1,960
To Loss on sale of

motor car 13,600
To Life Insurance

Premium 13,580
To Wealth Tax 11,480
To Interest on capital 1,700
To Audit Fees 1,600
To Interest on

Bank Loan 12,760
To Provision for

Depreciation 15,000
To Provision for

Income Tax 17,800

Net profit 84,480

2,81,180 2,81,180
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Other information :

vii)

Bad debts written-off admitted by income tax department during
the year ¥1,100.

Amount of income tax actually paid during the year is ¥8,400.
Depreciation allowable as per income tax rules is ¥3,400.

Advertising expenses include 1,100 spent on special advertising
compaign to open a new shop in the market.

Law charges are in connection with protection of a trademark.

Mr. Shoham carries on his business in a rented premises, half of
which is used as his residence. Rent, rates & taxes includes ¥14,800
paid as rent of the premises during the year.

Bank loan is taken for business purposes.

Compute the business taxable income of Mr. Shoham for the
assessment year 2016-17

04) From the particulars of Mr. Sanjay an employee of MPK Company Ltd,
Pune. Find out his taxable income from salary for the assessment year

2016-17.

[16]

i)  Basic salary ¥30,000 p.m.

ii) Dearness Allowance ¥6,000 p.m. (part of the salary).
i) Bonus @ 20% p.a. of salary.

iv) Entertainment allowance ¥9,000 p.m.

v)  Employer's contribution to R.P.F. @ 13%
vi) Interest credited on R.P.F. balance @ 12% %24,000.

vii) Free furnished room was alloted to him by the employer at Pune. Fair
rent ¥5,000 p.m. and the cost of furniture ¥3,00,000.

viil) Gas, Electricity & Water charges ¥5,000 p.a. paid by employer.

ix) Reimbersment of medical expenses ¥12,000 p.a.

x)  His contribution to R.P.F. ¥4,000.
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xi) A motor car (cc of the engine is 1.8 liters) is provided to Mr. Sanjay. The
motor car used for both office & official purpose. Expenses on

maintenance of private use are born by Mr. Sanjay.

xil) Insurance premium on his own policy ¥4,200 p.a. and on his wifes policy

¥3,600 p.a. are paid by the employer.

xiii) His son is studing in L.I.T Pune. His fees for 50,000 was paid by employer

direct to the institute.

05) Mr. Darshan aged 35 years, working in IPL Co. Ltd, Mumbai. He has furnished

the following details of his income for the year ended 31-3-16. [16]
Particulars X
i)  Salary 5,58,000
i)  Transport Allowance 2,000
iii) Laptop for office & private purpose cost to the employer
(ownership not transferred) 10,000
iv) Taxable income from let out house property 75,620
v) House tax paid during the year 3,400
vi) Free car (1150 cc) facility for official & private purpose
cost to the employer 27,000
vii) Share of profit from :
a) 1/3 share of profit from firm 36,000
b) A Hinduundevided family 34,000
c) Income from business 5,60,000
viii) Profit from business of diary farming 16,000
ix) Hereceived:
a) Interest on capital from firm 12% 24,000
b) Interest on Govt. bonds 34,000
c) Interest on P.P.F Account 10,000
d) Interest on company deposits 3,000
e) Maternity claim of Insurance policy
(Including bonus ¥25,000) 1,85,000
f)  Income from betting 2,400
g) Dividend from domestic company 5,300

[4963]-3005 5




Particulars T
x)  His saving and investment were as under :

a) Life Insurance premium paid by employer 12,000

b) Medical Insurance premium on Health of dependant

mother aged 65 years 26,000

c) Medical Insurance for self 17,000
xi) Repayment of Higher Education loan including

interest 40,000 60,000
xil) Donation to National Defence Fund 5,000
xiil) Deposited to Jeevan Surkhsha plan of LIC 20,000
xiv) Repayment of self occupied house loan

(including interest 27,000) 57,000
xv) Interest on loan borrowed for pay to Muncipal tax 510
xvi) The employer deducts professional tax 2,500

Compute the total taxable income & Tax liability for the assessment year
2016-2017.

* ¥ *
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T.Y. B.Com.
AUDITING AND TAXATION

(2013 Pattern)
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oft. IEH T =N STATETT HISATHT JARIA AT, Tdeh! A& WRT o TZUATETS
AT, W2 F FHed 214,800 & TohA o1 Juid SRR Wisaandt feaet
.

HAH™ HRUTHETS! Seh Shal Hdeiet 3ATe.
oft. ITigw ar AR ad 2016-17 Ael SATEEIETS HUT 37U el



yv7 4) oft. 99 g TH Ui, o HUHIA B HAd ST I Wl THIO Hifgdt foett 3.
& feetean wiigdiasa iAo a4 2016-17 Al U 39 Hiel. [16]

) "B WmM 30,000 3. .

i) wgms W 6,000 2. W.

i) == AT 20%

iv) UL W= 9,000 5. w.

V) U AT S e sl 13% swrr.

vi) WraTTE wios fHatg Fdede st 12% smmor 324,000.

Vi) WTCTeRM T Y01 3 ARG @ielt Withd Tguardist el @ arret
w12 5,000 swfor wiHe= 9ea 33,00,000.

viil) HreTeRTO 9, St anfor uroft e st T5,000 Wt wwot
ix) SrerfeRa TrETE Tdgdt < 12,000 Sedtet fHestet.
X) T TEa: aeEa wias farg fefeh et 14,000 s,

Xi) RO T (1.8 . et 3T R) TR YRt e TR WIS 9 e

Xil) o Xt Toa e femmgar 34,200 wRard. ST w@ean geren fomrgar 23,600
Tdiasl AR WTAT STral.

Xiil) T R ™. 3. 1. got A2 freha owgm et di 350,000 Arerehreaadi
e TEAT WAl .
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gv75) . PAZTATW 35 T ST d AEUITA . 3. Hag A9 w1 wward. 31.03.16 i

HUUT=AT FNTe 1 WSOl Hifget fqett 312 [16]
LN 3
) wWm 5,58,000
i) aTEqeE W 2,000
iil) TR TSN & Tt ST St e 10,000
(ATeTeR! gEATad Shell AT
iv) wrean e TR S 75,620
V) ot e SR W 3,400
vi) wTeTER it we @R R (1150 9. @) el g sateriE
SULRTTETS! 27,000
vil) WSl o
HA) HIAEA WATER 1/3 T 36,000
7) fig sfaves wga 34,000
W)  HEET S 5,60,000
Viil) ¢ TehedTdie STaERETIRTe 30 16,000
ix) N Erele TEm e
) U T WiEaeTaie ST 24,000
q) IERE dieald S 34,000
&) HEAHS Wias fatg Felt arcaeie == 10,000
g) hHUAIIA St st 3,000
3) o uiferEiiet Hoa THTHHER fesTerett TR
(e % 25,000 & T 32) 1,85,000
%) AU S 2,400
7) it iR freseret e 5,300
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qUTHA 3

X) T SEa J Jaaueh TS ;

H) HICAhHM e gH el 12,000

q) TATCATR SEAET ST T8 TH 65 ST SE

Sarfera fomm g 26,000

®) T Serha o g 17,000
xi) 3= freron wettel wate @i ¥40,000 e 3R, 60,000
xii) v TRemn s Jowd 5,000
xiii) SheferraTea s geen dere 39 Saeh 20,000
Xiv) TIa:Tgd AT Tl et WAhE hell

(@ 327,000 ZaTS 3Re) 57,000
XV) TRUTTCTeRT & SUTETS IEER Saeicdl St s 510
XVi) TR SHaH™ T huTd hell— 2,500

TR T4 2016-17 ATl HUT ST AT HSAAT il

e
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Total No. of Questions : 5] SEAT No. :

P1079 [Total No. of Pages : 4
[4963] - 3006
T.Y. B.Com.
BUSINESS ADMINISTRATION -11

Human Resource Development and Marketing
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:
1)  All questions are compulsory.

2)  All questions carry equal marks.

Q1) What is Human Resource Management? Explain functions of Human Resource

Management. [16]
Q2) a) Whatis training? Explain methods of training in detail. [8]
b) Explain the concept of Performance Appraisal. Write advantages and
disadvantages of "Performance Appraisal". [8]

OR

a) What is employee selection? Write the steps in employee selection
process. [8]

b)  Whatis Succession Planning? State importance of Succession Planning.

8]

03) a) Explainin detail classification of market. [8]
b)  Write various steps in Product Life Cycle. [8]
OR
a) What is advertising? State scope of advertising. [8]
b) Explain in detail the methods of Pricing. [8]

PT.O



04) Define the term "Market Research". Explain scope of market research in detail.
[16]

05) Write short notes on (Any Two) : [16]
a) Job Analysis.
b)  Quality Circles.
c) Global Marketing.

d) E-Marketing.

* K *

[4963]-3006 2



Total No. of Questions : 5]

P1079
[4963] - 3006
T.Y. B.Com.
YIAr™ I9mEA - 11
urelt gae faemma snfor ferqur
(2013 Pattern)
(A3 BATAR)
dz : 3 ard] [ BT 7797 : 80
gaar: 1) €8 I STETEH .
2) Td Uy GHE T[T 3ATRA.
gy7 1) OHE THEA ST TZUS i d AR e TE1E sTaeIToTe il T8 .
[16]
gy72) ) UDEIU IGUNR A WA UivTeruTean ugd afee forer. [8]
q)  HELTHA Hodiohd GeheuHl TUE e ShIZeTHdT HedTeh-Ta Thiae d die forar.[8]
e
HA) wHHA o Rus w7 wEem Fae wshee o o [8]
) SRR FEeH U S d S St e wee s . [8]
g7 3) 3H) ASRUSTHT SRIUTl TehR AfEaR T8 . [8]
W) IeareA rareshrea fafay sreen afaer for. [8]
fhen
H) A TEUS hr ? AR ATt T . [8]
7) fohma Mefomen ugdt afeem o [8]

797 4)

Rrum wviiem dereut e wEa foue GeneAT s afera foEn. [16]



gy 5) fem foran (Fore@ gm) - [16]
A)  HEETATOT

F)  TUTE TG
®) SN foaue

) d-mRn
BHe
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Total No. of Questions : 5] SEAT No. :

P1080 [Total No. of Pages : 4
[4963] - 3007

T.Y. B.Com.

BANKING AND FINANCE
Financial Markets and Institutions in India
(2013 Pattern) (Special Paper - II)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define Capital Market. Explain the characteristics of Capital Market and reforms
in Indian Capital Market after 1991. [16]

02) What do you mean by Foreign Exchange Market? Explain the participants in
Foreign Exchange Market and the methods of Foreign Exchange. [16]

OR

Define Money Market. Explain the characteristics of Indian Money Market
and reforms in Indian Money Market after 1991.

03) a) Distinguish between Commercial banks and Non banking Financial
Institutions. [8]

b) State the progress of Industrial Finance Corporation of India. [8]
OR
a) Explain the functions of Lease Financing Companies.

b)  State the functions of Insurance Regulatory and Development Authority.

PT.O



Q4) State the organisation, functions and working of Unit Trust of India. ~ [16]

05) Write short notes (any two) : [16]
a) Provident Fund Regulatory Development Authority.
b) Merchant Bank.
c) MudraBank.

d) Non-Life Insurance Companies.

* ¥ *
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Total No. of Questions : 5]

P1080

[4963] - 3007
T.Y. B.Com.
BANKING AND FINANCE
Financial Markets and Institutions in India

(2013 Pattern) (Special Paper - 1)

(A3 HATAR)
ges : 3 ard] [ vzoT 707 - 80
geAr: 1) TE U SEvaeh .
2) ISTAREA 3k TR YUT T[0T guitraTd.
3) HSWiEE! Hes SUSH UyAUfhT URTEH.

gy7 1) Wigad SRR ARG fTgl. URd Wigael SR afvrss anfor 1991 Faven
GLROT |R. [16]

gy72) urhE fafme aem gus e wehe fafia arrdie agamntt gew st wehm

e ugedt =i, [16]
fekan
ATTETRTE = forgl. R AotaraRre ST aRE 1991 Fatea aRd™
ATVISTIRIA GEROT EAT.
g7 3) 3H) AUN sleht 0T ek AU foxita Teemeiet wieh AR, [8]
q) AR 3irEieh IAqTEeT HErEesTE T Fr . [8]
fekan

) WU fayEst U S |,
) ferm fFrames sufor feerma wiftreRrom=h @t T,



97 4) WA e T ° TEed, HE ST HEugdl T . [16]

go7 5) fow fom. (Suend am) [16]
) wfos fatg R Fames e wiftero
F) Uehed Gl S SHaE™

®) "G EH
g) o Shem o o=

S
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Total No. of Questions : 5] SEAT No. :

P1494 [Total No. of Pages : 4

[4963]-3008
T.Y. B.Com.
BUSINESS LAWS AND PRACTICES (Special Paper - II)

(2013 Pattern)
Time :3 Hours] [Max. Marks : 80

Instructions to the candidates :
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Explain Rules regarding workers Health as per factories Act, 1948. [16]

Q2) Define wages and explain deductions made from wages as per the payment
of wages Act, 1936. [16]

OR

What do you mean by General fund and political fund up trade union? State
the objects for which the general and political fund can be used.

03) a) Statethe provisions regarding offences and penalties under the employees

provident fund and miscellaneous Act, 1952. [8]

b) State Rights and duties of inspectors appointed for inspection and

investigation of company. [8]
OR

a) Explain the concept of 'Available surplus' as per the bonus Act, 1965.[8]

b) State the general duties of the occupier of company (factories Act, 1948)[8]

04) Explain the structure of company law administration. [16]

PT.O.



Q5) Write short notes (any two): [16]
a) Rules for payment of wages. (payment of wages Act, 1936)
b) Minimum and maximum bonus. (bonus Act, 1965)
c) Provisions for protection of minority interest.

d) Cadbury committee's report.

SISIS
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Total No. of Questions : 5]

P1494
[4963]-3008
T.Y. B.Com.
BUSINESS LAWS AND PRACTICES (Special Paper - II)
(2013 Pattern)
(At EUTR)
gez : 3ard] [ Tgor 797 : 80

guar :—1) @ Tv7 HEAarF 8.

2) 3IwFiHSIeT 3@ gul qur FVAAr.
3) @gwrard? gwm sl gvIafaeT UgTal.

o7 1)

37 2)

57 3)

HRETATET HEET 1948 a8 HTTRIAT AR qiaad Haw /aiqel Tee
. [16]

JUTTAT HUTAT TICE T, [16]

feren

HITR Fee=1 gaareror [t g tseh feft s v/ ? weamamo fef =
Tetehra el shivTean SeraETdt W< idT Il F |,

) wuAW wiosag Fd g fafay aadien s, 1952 a3 T a
FETETEdeAT aigar |h. [8]

&) et enfuT SFEUTITETS! Y™ shelean TRl gk & shasd |RTLL 8]
feRan
) AT HEEl, 1965 T TUCSY THRT E HehoUAT T . [8]

¥) BRI HIeThTH! AHATIRUT hded AT, (HR@T wrEar, 1948) [8]



g7 4) HUA HES IIET AU AT s . [16]

gp75) & forar. (wiorerdt 3e) [16]
) IR daq qvaEssa e (Ja7 quaresern wrEEr, 1936)
q) Torum o Ut FFE (S wEET, 1965)
®) SACUHCHTH AUTEE TEareTuTTaTaean aXdgt
g) cheedl TibdieT rgare

SISIS
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Total No. of Questions : 5] SEAT No. :

P1495 [Total No. of Pages : 4

[4963]-3009
T.Y. B.Com.
CO-OPERATION AND RURALDEVELOPMENT

(2013 Pattern) (Paper - II)
Time :3 Hours] [Max. Marks : 80

Instructions to the candidates :
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) What do you know about co-operative registrar? Enumerate the powers and
responsibilities of co-operative registrar. [16]

02) What mean by co-operative management? Describe the measures to overcome

the defects in co-operative management. [16]
OR
Enumerate the need and significance of professionalisation of management
in co-operatives [16]
03) a) Write a note on co-operative philosophy. [8]
b) State the objectives of co-operative management. [8]
OR
a) State the sources of finance to co-operative. [8]
b) State the powers of co-operative auditor. [8]

Q4) What mean by co-operative Audit? Explain the nature and significance of
co-operative Audit. [16]

PT.O.



05) Answer the following questions (any two) [16]
a) Write a note on Audit Report.
b) Explain the nature of financial management.
c) Write a note on statutory audit.

d) State the provisions of co-operative law related to audit.

SISIS

[4963]-3009



Total No. of Questions : 5]

P1495
[4963]-3009
T.Y. B.Com.
CO-OPERATION AND RURALDEVELOPMENT
(2013 Pattern) (Paper - II)
(T ' 4qTaR)
gez : 3ard] [ Tgor 797 : 80

gear :—1) @d Tv7 TISA0 H1a99F HTE.
2) ITHIHESIT HH QO Jur FVfaara.

gg7 1) AT WEATET T qraEer AT HTT SAT0TAT ? TgehTt TEareat s
arfereRr enTfur SarmergT=an ferorg &, [16]

T972) EEHT SHAEATUA FEUTH 1 ? U —AaEATIATd I are famor soarardt
FFAIT IUTIATST Terorg =, [16]

e
TEHNTT TTEATIATEA SATTHATIR ISR ST TR ST Weged farere o, [16]

gp73) &) WEHM-deaw AR feu forgr. [8]
q)  HEHT—SHAEATTAT IL9T |, [8]
feRan
) ugwwre fafe (Ieuar) sEe wnl | 8]
) TEHH TEATAT oIET TR STfeRR |, 8]

97 4) AR TEATR G TREAUT (STRETUT) TEUTH hTal ? TgehRl TEATSHT i@t TRETUT=!
TEEY 3T Uged T . [16]



97 5) @it GeAT IW AT, (HI0TaEl ) [16]
3T) T URETUT (3TeheTUT) 3TEaTe aTeR feu forar.
¥) fafa saEweuATe WEY T &,
%) At crETaiern (stkauT) TR feu o
T) T URAVITAT HEfed Aol HghRl HIEAGATAT aqgl 9.

SISIS
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Total No. of Questions: 5] SEAT No. :

P1081 [Total No. of Pages: 4
[4963]-3010
T.Y.B.Com.
COST AND WORKS ACCOUNTING
(2013 Pattern) (Paper - 1l) (Regular)

Time : 3Hours] [Max. Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of calculator is allowed.

Q1) A) State whether the following statements are True or False. [5]
a)  Office overheads are controllable at lower level of Management.
b) All overheads are the cost, but all cost are not the overheads.

c) Job costing method is more suitable where production is carried
out according to customers specifications.

d) Contract costing method is also known as Terminal costing.
e) Service cost are generally computed periodwise.

B) Fillinthe blanks: [5]
a) overheads are beyond the control of the Management.

b) Technical director’s travelling expenses form a part of
overheads.

c) Job costing is aimed to find out the cost of specific
d) An escalation clause usually related to change in prices of
e) By-products are of relatively value.

Q2) What is Activity Based Costing? Explain the steps to develop the Activity

Based Costing System. [15]
OR

What is job costing and job cost sheet? Explain the advantages and

disadvantages of job costing. [15]

P.T.O.



Q3) Write short notes on (Any three) :

)
b)
c)
d)
€)

Q4) a)

Features of Service Costing.

By-product.

Normal Loss and Abnormal Loss.

Retention Money
Cost drivers.

[15]

Sanket Engineering Co. Ltd., Pune, has three production Depts. X, Y
and Z and two Service Depts. A and B. The expenses incurred by them
during the month of March, 2015 were as follows :

Rent and Taxes

Canteen expenses

Motive power
Depreciation on Machines
Electric Lighting

Indirect materials

Additional information provided for the month of March, 2015

®)
- 5,000
- 1,300
- 4,000
- 5,000
- 2,000
- 1,500

Particulars Production Depts. Service Depts.
X Y Z A B
Machine values ¥ | 15,000 [ 30,000 | 22,500 - 17,500
Direct Materials ¥ | 5000 | 6,000 | 4,000 - -
Direct Wages 4 4,000 | 5,000 | 3,000 - -
Electricity KWH 5 10 10 6 9
Area occupied  sq.ft. 1100 | 1,300 | 1,200 500 | 900
Light point Numbers No. 8 12 10 4 6
Employee Nos. No.| 50 10 40 10 20

Expenses of Service Depts are to be apportioned as per Repeated
Distribution Method as follows :

Particulars X Y Z A B
Dept. A 20% | 40% | 30% - 10%
Dept. B 30% | 20% | 30% | 20% —

[4963]-3010



b)

Q5) a)

Prepare a statement showing Primary Distribution of overhead expenses
on most equitable basis. Also prepare a statement showing secondary
distribution of Service dept. cost to Prod. dept. [15]

Calculate the value of work certified in each of the following cases. [5]
I)  Contract price Rs. 5,00,000, work certified 60%.
i) Cash received Rs. 2,40,000 being 80% of work certified.

Pawar Builders, Ahmednagar undertook several large contract. The
following are the particulars relating to contract No. 25 for the year ended

31-3-2015. [10]
)

Material issued from storehouse - 90,000

Material purchased - 40,000

Material transferred from contract No. 35 - 25,000

Material returned to storehouse - 500

Material at site on 31-3-2015 - 1,000
Plant purchased and installed at site - 72,000
Freight and installation charges of plant - 8,000
Operating wages - 1,22,000
Process labour outstanding - 5,000
Other direct expenses - 12,000
Operating exp. payable - 2,000
Establishment on cost - 27,000
Office exp. accrued - 1,500
Work uncertified - 6,000
Contract price - 16,00,000
Cash received from contractee - 3,20,000

(represented the full amount of work certified less 20% as Retention
Money)

Provide depreciation on plant @ 10% p.a. as per Reducing Balance
Method.

You are required to prepare Contract Account and Contractee’s
Account.

[4963]-3010 3



b) The product of a Manufacturing concern passed through two processes
A and B and then to finished stock. It is ascertained that in each process
normally 5% of the total weight is lost and 20% is scrap which from
process Aand B realises Rs. 80 per ton and Rs. 200 per ton respectively.

Particulars Process ‘A’ | Process ‘B’
Materials Tons 1,000 70
Cost of materials per ton ¥ 125 200
Wages 4 28,000 10,000
Manufacturing Expenses ¥ 8,000 5,250
Output Tons 830 780

Prepare process ‘A’ Alc, process ‘B’ Account, Abnormal Loss A/c and
Abnormal Gain A/c. Also calculate cost per ton of each process. [10]

OR

From the following information relating to Raj Transport Co. Pune

calculate the cost per running km. [10]
3

Wages to Drivers per month - 500

Cost of Diesel per liter - 1.50

Cost of oil per liter - 10.00

Annual cleaning and servicing - 2,460

Insurance charged per year - 4,000

Yearly Road Tax - 6,400

Repair and Maintenance for twelve months - 1,200

Cost of tyre, tubes etc per year - 1,800

Diesel km. per liter - km. 4

Oil km. per liter - km. 50

Cost of vehicle ¥ 1,30,000

Estimated life - 5 years

Residual value of vehicle - ¥ 30,000

Interest on cost of vehicle p.a. - 7%
Estimated annual run km. 36,000

* ¥ *
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Total No. of Questions : 4] SEAT No. -

P1082 [Total No. of Pages : 4
[4963]-3011
T.Y. B.Com.
STATISTICS (Special Paper - 1)
Business Statistics
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.
3)  Use of statistical tables and calculator is allowed.
Q1) Attempt any five of the following : [10]
a) State Bayes theorem.
b) GivenP(A)=0.5,P(B)=0.6,P(ANB)=0.3, find P(A/B) and P(ANB").
c) Let X—B(n, p), If E(X) = 6 and Var(X) = 4, Find n and p.
d) Explain types of error in testing of hypothesis.
e) Acoinistossed 20 times and following sequences of heads (H) and tails
(T) 1s obtained :
HTTHHTTHTHHHTTHHTHHH
at 5% level of significance check the unbiasedness of a coin.
f)  Compute *C,..
02) Attempt any four of the following : [20]
a) Let A and B be two events defined on sample space Q. If P(A) = 0.8,
P(B) =x, P(AUB) =0.9, find x,
1)  when A and B are independent
i) when A and B are mutually exclusive.
b) 20% bolts produced by a machine are defective. Determine the probability

that out of 4 bolts chose at random.
i)  Atmost 2 bolts will be defective.
i) Atleast 1 will be defective.

PTO



d)

A film director claims that his films are equally liked by males and females.

An opinion poll of 1000 viewers revealed the following results.

Attribute

Liked

Disliked

Males

402

193

Females

245

160

Is the film director's claim supported by the data.
Given y =3.81, x5 =5.99, y2=7.8lat 5% L.O.S.

A random variable X has following probability distribution :

X 1 2 3 4 5

P(X=x) |5K |8 |15k |7k |5k

Find :

) K

i) Mean

ii) Variance

Following are the responses to the questions "how many hours do you
study before an exam?"

651225753747

Use sign test to test the hypothesis at 5% level of significance that the
median numbers of hours a student studies before an exam is 3.

03) Attempt any two of the following : [20]

a)

b)

A die is tossed twice.

i)  Write sample space of this experiment.

i) A discrete random variable X denotes Sum of integers appearing
on the uppermost faces. Write down its probability and cumulative
probability distribution.

i) Find mean and standard deviation of X.

The average number of misprints per page of a book is 1.5. Assuming
the distribution of number of misprints be Poisson, Find

i)  The probability that the page is free from misprints.

i)  The probability that the page contain less than 2 misprints.

i) Number of pages containing more than one misprint in a book of
900 pages.
[Given e'° =0.22313]

[4963]-3011 2



c) The sales data of an item in six shops before and after special promotional
campaign are as given below :
Shops A |B |C |D |E |F
Before campaign 53 |28 |31 [48 |50 |42
After campaign 58 |29 [30 (55 |56 |45
Can campaign judged to be a success?
(Take o0 = 0.05, t; |« =2.57, t, o).
d) 1)  Describe the test procedure of equality of two population proportion.
i) In a sample of 600 students of a certain college 400 are found to
use ball pens. In another college, from a sample of 900 students
450 were found to use ball pens. Test whether the two colleges are
significantly different with respect to the habit of using ball pens.
(Use 5% level of significance).
04) Attempt any two of the following : [30]
a) IfX—>N(3,2?), find
) PX>)5)
i) P(X<1)
i) P@<X<7)
iv) P(2<X<6)
v) E(Y)and Var (Y), where Y =2X - 3.
b) Two manufacturers A and B supply piston rods off specified diameters

to a company. The company is interested in comparing variability of the
diameters of the product of these two manufacturers. The measurements
(in cm) of the diameters of rods drawn randomly from the rods supplied
by A and B are as follows. [Use 2% level of significance].

Diameters of rods supplied by A : 6.4, 6.8, 7.2, 6.6, 7.7, 7.0, 6.5, 7.1,
6.9,7.3

Diameters of rods supplied by B : 6.9, 6.5, 6.6, 7.4, 6.2, 6.8, 7.0, 7.3,
7.1,7.2,6.4,6.7

Test whether variances in the diameters of rods supplied by manufacturers
A and B are equal.

[4963]-3011 3



c) The joint probability distribution of (X, y) is given below :

Y 0 1 2 3
X
0 K 3K 2K 4K
2K 6K 4K 3K
2 3K 9K 6K | 12K

Obtain :

i)  The value of K.

i) Marginal probability distribution of X and Y.

i) P(X+Y <)

iv) Conditional probability distribution of Y given X = 2.
v) Are X and Y independent?

* % *
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Total No. of Questions : 5] SEAT No. :

P1083 [Total No. of Pages : 4
[4963] - 3012

T. Y. B.Com.

BUSINESS ENTREPRENEURSHIP (Paper - II)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:
1)  All questions are compulsory.

2)  All questions carry equal marks.

Q1) Explain the different forms of Business Organisation. [16]

02) Explain in detail the steps taken by Government to solve the problems of
Small scale industries. [16]

OR

What is environment scanning? Explain the need of environment scanning.[16]

03) a) Explain the function and working of Small Industries Development Bank

of India (SIDBI). [8]

b) Explain the social aspect of Business plan. [8]
OR

a) Explain the start-up, stability and growth phases of small Enterprise

Management. [8]

b) What is Financial crisis? Explain the reasons for Financial crisis.  [8]

04) Explain the elements are to be considered while preparing a project Report to
start small scale unit. [16]

PTO



Q5) Write a short notes on any Two :

a)
b)
c)
d)

District Industries Center.

Guidelines for preparing a Business plan.

Creativity and Innovation.

Turn around strategies.

* ¥ *

[4963]-3012 2

[16]



Total No. of Questions : 5]
P1083

[4963] - 3012
T. Y. B.Com.
BUSINESS ENTREPRENEURSHIP (Paper - 1I)

(2013 Pattern)
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ol : 1) w& 9y AfHamE aTea.
2) oE O EHH 0T SR
3) HEWiEE! Hes SUS qyAufrhl UgTE.

g7 1) =HoE™ g fafay yer wE w0, [16]
Tv72) oY ST THET SISiUETErst IR ATl SUTE TIE . [16]
fRen

UITERUT AUTHUT TEUTS ST ? Tl SATaeiehal T8 . [16]
g7 3) ) YRAE SN foehR sk el 9 SRR v % [8]
) AEEIRIE ARESATH ATHINS ] T . [8]
fren
) Y I ATEAUATAA TR, FRR T TGt ITTEAT T . [8]

¥) HIEEe fosia anfie o w e e =i st vag a8

Tv7 4) G I & FOAYE Thod HEATA TIR AT hUTd Heeh faanid =4 enmard
A TP . [16]



g7 5) few ferr. (o G) - [16]
3)  forer vem g
q) MR ARTEE! GIR FUAT ARSI GAT
F) AR & FA A
T) HTEHIR STRYUUTHTS! el Sgea

SR

[4963]-3012 4



Total No. of Questions : 5] SEAT No. :

P1084 [Total No. of Pages : 4
[4963] - 3013
T.Y. B.Com.
MARKETING MANAGEMENT (Paper - 1I)
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define the term 'Marketing Planning'. Describe the process of preparing

'Marketing Plan'. [16]
02) Explain the social responsibilities of Marketing Manager. [16]
OR
What do you mean by 'Marketing Strategy'? Give in detail the characteristics
of 'Marketing Strategy'.
03) a) What are the types of Marketing Organisation? [8]
b)  Write a note on types of Agricultural product. [8]

OR
a) Explain the importance of International Marketing.

b) Distinction between Manufacture Goods Marketing and Agriculture
Goods Marketing.

PT.O



04) Explain the impact of globalisation on Marketing.

05) Write short notes on (Any two) :

a)
b)
c)
d)

Modes of entry in International Market.

Consumer Protection Act - 1986.

Importance of Market Regulation in Marketing.

Recent trends in Social Marketing.

* ¥ *
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[4963] - 3013

T.Y. B.Com.

frqum saTeaT (Paper - II)
(2013 )
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Total No. of Questions : 5] SEAT No. :

P1085 [Total No. of Pages : 4
[4963] - 3014
T.Y. B.Com.

AGRICULTURAL AND INDUSTRIAL ECONOMICS
(Special Paper - II)
(2013 Pattern) (Regular)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Whatis Agricultural productivity? Explain in detail the causes of low agricultural
productivity in India. [16]

02) Define land reforms? Give a brief outline of institutional land reforms in India.
[16]
OR

Explain the causes of farmers suicides in India. Suggest remedies to eliminate
farmers suicides. [16]

03) Answer in brief:

a) Explain the scope of agricultural processing in India. [8]

b) Explain the problems of Sugar industry in India. [8]
OR

a) Discuss the role of government in natural calamities. [8]

b) Explain the problems of Small scale industries in India. [8]
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04) What is privatisation? Explain the arguments against privatisation.

05) Write short notes on (Any two) :

a)
b)
c)
d)

Role of IFCI in Industrial Finance since 1991.
Progress of Iron and Steel industry in India.
Social security and Welfare measures in India.

Broad features of industrial growth in India.

* ¥ *
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[4963] - 3014
T.Y. B.Com.
FHt q siteife e
(Special Paper - II)
(2013 Pattern) (Regular)
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Total No. of Questions : 4] SEAT No. :

P1086

[Total No. of Pages : 4
[4963] - 3015

T.Y. B.Com.

DEFENCE BUDGETING, FINANCE AND MANAGEMENT

(Special Paper - II)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:

1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
Q1) Answer in 20 words each (any ten) : [20]
i)  State the concept of defence.
i)  Define defence management.
iii) Define logistics.
iv) Define sustainable development.
v)  Define public good.
vi) Define national security.
vii) What do you mean by industrial policy resolution?
viil) State the meaning of parliament control of defence expenditure.
ix) Write any two concepts of organizational aspects of decision making.
x)  State the meaning of defence vs development.
xi) State the meaning of budgetary perspectives.
xil) Define Threat perception.
xiii) Write any two limitations of logistics management during war.

PT.O



02) Answer in 50 words each (any two) : [10]

a) Explain economic aspects of defence production.
b) Discuss Functions of ministry of defence.

c) Explain problems of indigenous arms production.

03) Answer in 150 words each (any two) : [20]

a) Evaluate defence policy making process in India.
b)  Write a note on the logistics management for Indian Defence.

c) Discuss role of Research and Development in defence production.

04) Answer in 300 words each (any two) : [30]

a)  Write a critical note on the role of information in defence planning.
b) Explain structure of the India's five year defence plan.

c) Discuss industrial policy resolution of India since 1991.

* ¥ *
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Total No. of Questions : 5] SEAT No. :

P1496 [Total No. of Pages : 4

[4963]-3016
T.Y. B.Com.
INSURANCE TRANSPORT AND CLEARANCE (Paper-1I)

(2013 Pattern)
Time :3 Hours] [Max. Marks : 80

Instructions to the candidates :
1)  All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Define Life Insurance? Describe the claim settlement procedure of Life
Insurance. [16]

Q2) What do you know about Insurance regulatory and development Act, 1999
(IRD Act-1999)? Enumerate the scope and objectives of IRD Act-1999.[16]

OR
Distinguish between nominations and Assiguments. [16]
03) a) Write a note on Insurance Act - 1938 [8]
b) Write a note on Malhotra committee report [8]
OR
a) Write a note on surrender of policies [8]
b) State the provisions of Insurance Amendment Act - 2002. [8]

Q4) Define general insurance? Enumerate in detail the different kinds/types of
claims of general Insurance. [16]

PT.O.



05) Answer the following questions (any two) [16]
a) Write a note on Installment revival scheme. of General Insurance
b) Comment on IRDA Regulations 2002.
c) Explain the accidental benefits of general insurance contract.

d) Write a note on saving plans of Insurance Business.

SISIS
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[4963]-3016
T.Y. B.Com.
INSURANCE TRANSPORT AND CLEARANCE (Paper -1I)
(2013 Pattern)
(TEt ®aTar)
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Total No. of Questions : 5] SEAT No. -

P1087 [Total No. of Pages : 2
[4963]-3017
T.Y. B.Com.
COMPUTER APPLICATIONS (Paper - 11)

Computer Networking and Cyber Security
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3)  Neat diagrams must be drawn wherever necessary.

Q1) Attempt any eight of the following : [16]
a) Define the term port address.
b) List the various types of NIC.
c) Mention the benefits of the wireless transmission media.
d) What are the goals of Gigabit Ethernet?
e) Define the term security.
f)  What do you mean by Programming Bugs?
g) Define the term Encryption.
h)  Define the term Line of sight.
i)  Define the term Protocol.

j)  What do you mean by peer entities?

02) Attempt any four of the following : [16]
a) Explain in detail the security issues in wireless networks.
b) Listthe different computer network topology. Explain any one in detail.
c) Explain in detail the twisted pair transmission media.
d) Explainin detail the IEEE 802.11.
e) Explain in detail the tools and techniques of cryptography.

PTO



03) Attempt any four of the following : [16]

a) Explain in detail the Fast Ethernet.
b) What are the properties of the IP address?
c) Explain in detail the advantages and disadvantages of the wireless
networks.
d) Explain in detail the components of NIC.
e) Explain in detail the categories of cyber crime.
04) Write short note on (any four) : [16]
a) Digital Signatures.
b) Micro Wave Transmission.
c) Weak Password.
d) TCP/IP model.
e) Modes of Communication.
05) a) Attempt any two of the following : [8]
i)  What are the various types of steganography?
i)  Differentiate between server based LANs and peer to peer LANSs.
i) Explain in detail the MAC sublayer of standard Ethernet.
b) Attempt any two of the following : [8]

i)  Explain in detail the architecture of the Blue tooth.
i)  Explain in detail the various types of attacks.
i) Explain in detail the layers of OSI model.

* K *
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Total No. of Questions : 6] SEAT No. :

P1088 [Total No. of Pages : 4
[4963] - 3018
T.Y. B.Com.
BUSINESS ADMINISTRATION (Paper - I1I)

Finance, Production and Operation Functions
(2013 Pattern) (Regular)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Whatis Financial Management? Explain the functions of Financial Manager.
[14]

02) What is Financial Planning? Explain the nature, scope and importance of

Financial Planning. [14]
OR
What is Under Capitalisation? Explain the causes and effects of Under
Capitalisation. [14]
03) a) Explain the importance of Working Capital. [7]
b) Explain the principles of Material Handling. [7]
OR
a) Explain the functions of Money. [7]
b) Explain the principles of Supply Chain Management. [7]

PT.O



04) What is Production Control? Explain the objectives and Techniques of
Production Control.

05) Write Short Notes on (Any Two) :

a)
b)
c)
d)

Need of Finance.
Advantages of Equity Shares.

Inventory Management.

Importance of Supply Chain Management.

[14]

[14]

06) "The Finance policy of Govt. of Maharashtra for Industrial Development".
Discuss.

* ¥ *
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Total No. of Questions : 6]
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[4963] - 3018

T.Y. B.Com.
BUSINESS ADMINISTRATION (Paper - I1I)
Finance, Production and Operation Functions

(2013 Pattern) (Regular)
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Total No. of Questions : 6] SEAT No. :

P1089 [Total No. of Pages : 4
[4963] - 3019
T.Y. B.Com.

BANKING AND FINANCE (Paper - 111)
Banking Law and Practices in India
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the legal and Non-legal measures of Recovery of loans. [14]

02) Explain the precautions to be taken by the banker while advances against
securities. [14]

OR

What is Paying Banker? Explain the duties and rights of Paying banker. [14]

03) a) Define Cheque and explain its features. [7]
b) Explain the Bankers Obligation of secrecy of accounts. [7]
OR
a) Explain the precautions in collecting customer cheques. [7]
b) Define Bankers Lien. Explain the types of Bankers Lien. [7]
04) Explain the provisions in Banking Regulation Act 1949. [14]

PT.O



05) Write short notes on (any two) :

a)
b)
c)
d)

Q6) Discuss the current issues in Banking Sector.

Dishonor of cheque.
Types of Mortgage.
Parties of Negotiable Instruments.

Technical aspects of project appraisal.

* k%
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Total No. of Questions : 6]

P1089
[4963] - 3019
T.Y. B.Com.
BANKING AND FINANCE (Paper - 1II)
Banking Law and Practices in India
(2013 Pattern)
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Total No. of Questions : 6] SEAT No. :

P1497 [Total No. of Pages : 4

[4963]-3020
T.Y. B.Com.
BUSINESS LAWS AND PRACTICES
(Special Paper - I1I)

(2013 Pattern)
Time :3 Hours] [Max. Marks : 80
Instructions to the candidates :

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.
3)  Calculator may be used.

Q1) Define the company Auditor. Explain the duties and Rights of an auditor of
company. [14]

Q2) What is brand name? Explain the provisions in respects of trade name. [14]
OR
Explain the rules and provisions of Acceptance of deposits by companies.

03) a) Define transaction value? Explain the items specially includes in the
transaction value. [7]

b) From the following details compute 'CST' payable by a dealer carring
on Business in New Delhi turnover for the year Rs.16,00,000 which is

included the following [7]

i)  Trade commission for which credit notes have to be issued
seperately. Rs.48,000

il) Installation charges Rs.25,000

i) Excise duty Rs.80,000

iv) Freight, insurance and transport charges recovered separately in
Invoice. Rs.60,000

v)  Goods returned by dealer with in six months of sales but after the
end of the year. Rs.40,000

vi) Central sales tax@ 4%
Buyer issued 'C' forms for all purchases.

PT.O.



OR

Define the concept of company secretary. Explain the position, duties
and liabilities of company secretary.

04) Explain the registration of service tax under the service tax Act. state types
of assessment of service tax. [14]

OR

Define dividend and interest state difference between dividend and interest.

05) Explain the following terms (any two) [14]
a) Mortgage and charges
b) Security for borrowings
c) Scope of customs duty Act

d) Taxable services

06) Define the term of patent and state information about surrender and revocation
of patents. [10]

SISIS
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T.Y. B.Com.
BUSINESS LAWS AND PRACTICES
(Special Paper - I1I)
(2013 Pattern)
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Total No. of Questions :6] SEAT No. :

P1498 [Total No. of Pages : 2
[4963]-3021
T.Y. B.Com.

CO-OPERATION AND RURAL DEVELOPMENT (Paper -III)

(2013 Pattern) (Regular)
Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Define consumer Co-operatives. State the Importance and Objectives of
Consumer Co-operatives. [14]

02) What is meant by pricing? Explain the Objectives and Significance of

Pricing. [14]
OR
Explain Concept of Marketing Research. State the Scope and Need of Marketing
Research in Co-operatives. [14]
03) a) Write a brief note on Cotton Co-operatives. [7]
b)  Write a brief note on National Co-operative Consumer Federation. [7]
OR
a) Describe Strategy for Exporting Agricultural Produce. [7]
b)  Write a brief note on Co-operative Serivce Marketing. [7]

04) State in detail Organization setup and Functions of Agricultural Produce Market
Committee. [14]

05) Answer the following questions (Any two): [14]
a) Explain the Impact on Agricultural Marketing.
b) Describe the Agricultural Co-operative Processing.
c) Describe the performance of NAFED.
d) Explain the Problems of Agricultural Produce Market Committee.

06) Explain the need of Minimum Support Price of Agricultural product in the
Current Scenario. [10]

Q00O
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[4963]-3021
T.Y. B.Com.
CO-OPERATION AND RURAL DEVELOPMENT (Paper -11I)
(2013 Pattern) (Regular)
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Total No. of Questions : 5] SEAT No. -

P1090 [Total No. of Pages : 4
[4963]-3022

T.Y. B.Com.

COST AND WORKS ACCOUNTING (Special Paper - 111)
(2013 Pattern) (Regular)

Time : 3Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2) Figures to the right indicate full marks.

3) Use of calculator is allowed.

Q1) a) Fillinthe blanks (any five) : [5]
I)  In cost accounting, marginal cost does not include
i) Cost Audit Report normally covers _ years.
i) A cost auditor has to attach several _ to the cost audit report.
Iv) __isthe most difficult aspect of Farm costing.
v) ldle time variance is the sub-division of __ variance.
vi) __ variance arises in process industries.

b) State whether the following statements are True or False (any Five) : [5]
)  Budgets are action plans.

i)  Cost Audit Report is submitted to the Shareholders.
i)  For reappointment of Cost Auditor, Govt. approval is not necessary.

Iv) A separate cost sheet is produced for each department in Farm
costing.

v) A technique of standard costing can be operated without marginal
costing.

vi) Favourable variance has the effect of increasing the actual profit.

P.T.O



Q2) What do you understand by the term MIS? Why has MIS become significant
for todays's management? [15]

OR

What is meant by inter-firm comparison? Describe the requisites to be
considered while installing a system of inter-firm comparison.

Q3) Write short notes on (any three) : [15]
a) Scope of Cost Audit.
b) Cost Audit Report.
c) Rights of a Cost Auditor.
d) Cost Record rules of Labour Records.
e) Objectives of Farm Casting.
Q4) a) The Turnover and profits during the two periods were as follows : [15]
Particulars Sale () Profit (%)
Period - | 40 lakhs 4 lakhs
Period - |1 60 lakhs 8 lakhs
Assuming that the cost structure and selling prices remains the same in
the two periods calculate :
i)  Profit Volume Ratio.
i) Break-even-points-sales.
i) The sales required to earn a profit of Rs. 10 lakhs.
Iv) Margin of safety in period II.
v)  Profit when sales are Rs. 50 lakhs.
b) A factory works on standard costing system. Calculate Material price

and Material usage variance. [5]

I)  Astandard estimates for materials of 1,000 units of a commaodity in
400 kgs @ Rs. 2.50 per kg.

i)  When 2,000 units of a commodity are manufactured, it is found
that 820 kgs. of material are consumed @ Rs. 2.60 per Kkg.
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Q5) a)

b)

The details regarding the composition and the weekly wage rates of labour
force engaged on a job scheduled to be completed in 30 weeks are as

follows : [10]

Standard Actual
Category of | No. of Weekly wage No. of Weekly wage
workers labourers | rate per worker | labourers | rate per worker

3 3
Skilled 75 60 70 70
Semi-skilled | 45 40 30 50
Unskilled 60 30 80 20
180 180

The work is actually completed in 32 weeks. Calculate the various labour
variance (i) DLCV (ii) DLRV (iii) DLEV (iv) DLMV

From the following information compute [10]
) Mix
i) Price
i) Usage variances
Standard Actual

Qty [ Unit | Total | Qty. | Unit | Total

kgs | price L4 kgs |pricex | X
Material A| 20 | 2.00 | 40.00( 15 | 5.00 75.00
Material B | 20 | 3.00 | 60.00 15 | 2.00 30.00
Material C 10 | 5.00 | 50.00( 10 | 5.50 55.00
Total 50 150.00 | 40 160.00

OR

From the following figures, prepare cost statements for crop for the year
ending 31% March, 2015.

Stock on 01-04-2014 Stock on 31-3-2015

) Item

L4
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Crops
Growing crops
Seeds
Fertilizers

15,000
11,000
8,000
16,000

L4
18,000
16,000
10,000
12,000
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Seeds of ¥4,000 and Fertilizers of 12,000 purchased during the
year ending 31-3-2015.

Crops of ¥1,02,000 sold during the year ending 31-03-2015.

Administrative expenses incurred ¥16,000 during the year ending
31-03-2015.

Workers and proprietor have consumed crops of 9,000 and ¥4,000
respectively during the year ending 31-3-2015.

* ¥ *



Total No. of Questions : 4] SEAT No. -

P1091 [Total No. of Pages : 4
[4963]-3023
T.Y. B.Com.
STATISTICS (Special Paper - I11)
Business Statistics
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.
2)  Figures to the right indicate full marks.

3)  Use of statistical tables and calculator is allowed.

Q1) Attempt any five of the following : [10]
a)  Obtain the saddle point for the following Game :
Player B

Player A 3 1
y -2 -1

b) Define strategy in game theory with an illustration.
c) The cost function C for output X is given by
C=X*-4X+6.
Find variable cost, fixed cost.
d) Explain the term 'pessimistic time' in PERT.

e) For the following pay-off table find the optimal strategy by Laplace
Criterion.

N, N, N, N,

S 114 9 10 5

S |1 10 8 7

S.19 10 11 13

f)  State the distributions of arrival rate and service rate of customer from
queuing theory.

PTO



02) Attempt any four of the following :

a)

Solve the following game :

Player B

2 0 3
PlayerA|3 -1 1

5 2 -1

[20]

If C(x) = 2x* + 8x* — 10 is the manufacturer's total cost equation, find :
i)  marginal cost
i) marginal average cost

Explain construction of p-Chart for proportions of defectives.
State and explain dominance principle in game theory.

From the following pay off table (of profit) determine optimal strategy

using maximin, maximax and Hurwicz criterion.

demand — A A A, A,
Stock |

S, 16 10 12 7
S, 13 12 9 9
S, 11 14 15 14
(Take o = 0.7)

03) Attempt any two of the following :

i)  State purpose of replacement problem.
i) The maintenance cost and resale value per year of a machine whose

purchase price is Rs. 7,000 is given below :

Year | Maintenance Cost [Resale Value
(in Rs.) (in Rs.)
1 900 4000
2 1200 2000
3 1600 1200
4 2100 600
5 2800 500
6 3700 400
7 4700 400
8 5900 400

When should the machine be replaced?

[4963]-3023
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b) A snack bar has one cook specialized in preparing one particular menu.

The

number of customers requiring that menu appears to follow

probability distribution with mean arrival of 15 per hour. Customers are
attended by the cook on first-come first served basis, and they are willing
to wait for service if they are in queue. The time that the cook takes to
attend a customer is exponentially distributed with a mean of 3 minutes.

Find : [10]

i)  Utilization factor

i)  Probability of queuing system being idle

i) Average time that the cook is free 10 hours working in a day

iv) Numbers of customers in the shop.

v)  Average number of clients in a queue.

c) 1) The pieces of cloth in 10 different rolls contain following number

of defects 3, 0, 2, 8, 4, 2, 1, 3, 7 and 1. Calculate three control
limits for C-Chart. [3]

i) The Lajwaab Bakery Shop keeps stock of a popular brand of cake.

Previous experience indicates the daily demand as given below:[7]
Daily demand Probability

0 0.01
15 0.15
25 0.20
35 0.50
45 0.12
50 0.02

Consider the following sequence of random numbers :

21, 27,47, 54, 60, 39, 43,91, 25, 20

Using this sequence, simulate the demand for the next 10 days.
Also find average demand.

d) Given below is the information about a project regarding different activities.
All time estimates are in days. [10]

Activity | 1-2 | 1-5 | 2-3 | 24 | 3-4 | 45| 5-6

2 3 6 5 5

5 12 9 14 8 6 -4

8 21 12 17 11 9 7
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Draw the network.

Determine expected time estimate and variance for each activity.
Given the total estimated completion time as 32 days with variance
5 days. What is the probability that the project will be completed
within 29 days?



04) Attempt any two of the following : [30]
a) The Wholesale Distributor assigns probability to the demand per an item

as follows :
Items Demanded 13 14 15
Probability 02 (0.7 |0.1

Purchase price of an item Rs. 2/-, Selling price is Rs. 5/-, loss per item
unsold is Rs. 2/-. Write down payoff matrix, opportunity loss matrix.
Also verify that the decision using EMV criteria and EOL criteria are
same.

b) Following the actual measurements of 10 samples each of the 5
observations in bottle filling plant. Construct and draw X and R charts
and comment on state of control.

Observations Sample No.
1 2 |3 4 5 6 7 8 9 | 10

1 47 | 48 | 46 | 40 | 35 | 53 | 46 | 51 | 48 | 47

2 48 | 49 | 42 [ 43 |40 | 52 | 47 | 52| 48 | 50

3 49 [ 50 | 40 [ 45 | 45 | 51 [ 48 | 50| 50 | 52

4 50 | 51 | 48 |47 [ 46 | 50 | 49 | 50| 45 | 53

5 51 |52 149 |50 (44 |49 | 50| 47 | 46 | 51
Givenn=35,D,=0,D,=2.115,A,=0.577, Draw X chart, R chart and
comment.

c) The following table gives the activities in a project and other relevant
information.

Activity | 1-2 | 13 | 1-4 | 2-5 | 3-5| 3-6 | 46 | 5-6 | 6-7
Duration| 2 7 3 3 6 10 4 6 2

Find earliest start, earliest finish, latest start, latest finish, total float, free
float and independent float for each activity. Also find critical path.

* * ¥
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Total No. of Questions : 6] SEAT No. :

P1092 [Total No. of Pages : 4
[4963] - 3024
T. Y. B.Com.
BUSINESS ENTREPRENEURSHIP (Paper - 11I)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) "Entrepreneurial personality is different from non-entrepreneurial personality".
Explain? [14]

02) What do you mean by organisational behaviour? Explain need and nature of
organisational behaviour. [14]

OR

Describe the entrepreneurial personality of Dr. Dilip Narayanrao Borawake. [14]

03) a) Write a note on 'Helping Behaviour'. [7]
b) Write a note on 'Managing Team'. [7]
OR
a) State and explain the types of motivation. [7]
b) What are the external causes of change? [7]
04) Narrate the sources of stress. [14]

PTO



05) Write short notes on (any two) : [14]
a) Influence in group
b) Team and Group
c) Employee Involvement Programme
d) A change model

06) You are senior Manager in private limited company. You have been asked to
manage resistance to change. How you will do it? [10]

S

[4963]-3024 2



Total No. of Questions : 6]
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T. Y. B.Com.
BUSINESS ENTREPRENEURSHIP (Paper - I1I)

(2013 Pattern)
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P1093 [Total No. of Pages : 4
[4963] - 3025
T. Y. B.Com.
MARKETING MANAGEMENT (Paper - I1I)
Advertising Management
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define advertising media. Explain the factors affecting selection of advertising
media. [14]

02) Define Branding? Explain the merits (advantages) of branding. [14]
OR

What is Industrial marketing. Explain the purchasing practices of industrial
customers in detail. [14]

03) a) Whatis Buying motives. Explain the Relation between Advertising appeal

and buying motives. [7]

b) Explain the advantages of Internet Advertising. [7]
OR

a) Explainthe objectives of industrial marketing. [7]

b) Explain the marketing Research process. [7]

04) Define marketing control. Explain the essential of an effective marketing control
system. [14]

PTO



05) Write short notes on (any two) :

a)
b)
c)
d)

06) Explain the factors affecting selection of advertising media.

Objectives of marketing Research

Functions of warehousing
Target market

Ethics in Advertising

e
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MARKETING MANAGEMENT (Paper - I1I)
Advertising Management

(2013 Pattern)
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P1094 [Total No. of Pages : 4
[4963] - 3026
T. Y. B.Com.
AGRICULTURALAND INDUSTRIAL ECONOMICS
(Special) (Paper - I1I) REGULAR)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Critically evaluate the community development programmes in Rural

development. [14]

02) Explain the role of Co-operative credit in India. [14]
OR

Explain in detail the types of irrigation. [14]

03) Answer in Brief.

b) State the features of Rural economy. [7]

b) Explain the need for Regional Industrial Balance. [7]
OR

a) Describe in brief the progress of dairy Co-operatives. [7]

b) Explain the features of MNCs. [7]

04) Explain the importance of Infrastructural development in economic
development in India. [14]

PT.O



05) Write short notes on (any two) : [14]
a) Role of Government in SEZ
b) Industrial policy 1991
c) Measures to reduce regional industrial imbalance
d) MNCs and their impact on Indian economy

06) Explain modern changes in irrigation in your area. [10]

S
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P1095 [Total No. of Pages : 4
[4963] - 3027
T.Y. B.Com.
DEFENCE BUDGETING, FINANCE AND MANAGEMENT

(2013 Pattern) (Special Paper - 1)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 20 Words each (any ten) : [20]
i)  Write any two merits of financial management.
ii)  Who said defence is a public good?
i) Define defence budget.
iv) Define sustainable development.
v) Define strategic planning.
vi) State the meaning of industrial power.
vii) Write any two limitations of defence management.
viii) State the meaning of strategic threats.
ix) Define mixed economy.
x)  Write any two merits of DPSU.
xi) Write any two post war problems.
xil) Define Threat perception.

xiii) What do you mean by economic power of defence?

02) Answer in 50 Words each (any two) : [10]
a) Explain purpose and need of financial management.
b) Describe relationship between parliament and defence expenditure.

c) Explainrole of financial advisor in India’s defence planning.

PTO



03) Answer in 150 words each (any two) : [20]
a) How defence and development go side by side? Examine.
b) Explain structure of India’s five year defence plan.

c) Discuss relationship between economic elements and of war.

04) Answer in 300 Words each (any two) : [30]
a) Describe features of India’s economic system.
b) Explain foreign aid as a contributory element.

c) Discuss India’s defence spending since 1998.

Bee
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[4963]-3028

T.Y. B.Com.
INSURANCE, TRANSPORT AND CLEARANCE (Paper -III)

(2013 Pattern)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What mean by Tourism? Describe the comparative study of Tourism in India
and Tourism in other Countries. [14]

02) Enumerate the functions and working of TAAI (Travel Agents Association of

India). [14]
OR
What mean by Tourism - planning: Explain in detail the planning procedure
for International Tour. [14]
03) a) State the current scenario of Railway transport in India. [7]
b) State the features of logistic Management in Business and Industry. [7]
OR
a) Explain the role of tour? Travel Agents in Tourism. [7]
b)  Write a note on Tourist Accommodation. [7]

04) Define Group Tours? Explain the significance of advertisements. publicity,
and marketing of group tours. [14]

05) Answer the following questions (Any two): [14]
a)  Write a note on Tourism in singapore.
b) State the significance of communication skill for Tourism.
c) Explain the facilities of group tours available to employees.
d) Write a note on availability of food services at malaysia.

06) What are the facilities available to International Tourist in Gulf and Dubai.[10]

Q00O
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P1096 [Total No. of Pages : 3
[4963] - 3029

T. Y. B.Com.
COMPUTERAPPLICATION (Paper - I1I)

Software Engineering
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Neat diagrams must be drawn wherever necessary.

Q1) Attempt any eight of the folloiwng : [16]
a) Enlist various tasks of system Analyst.
b) Explain the terms
i)  Data flow i)  Datainput
c) Explain the term "Feasibility Study".
d) Define coupling.
e) What is Software Risk?
f)  Define the term software quality.
g) Enlist phases of spiral model.
h)  What is Risk Projection?
i)  Whatis Integration testing?
) Whatistechnical feasibility?

02) Attempt any four of the following : [16]
a) Explain McCall's Quality Factors.
b) Explain with suitable diagram White box testing.
c) Explain waterfall model in detail.
d) Explain various types of cohesion.

e) Explainin detail various layers of software engineering.
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03) Attempt any four of the following : [16]

a) Define Testing. Describe its different types.
b) Explain output design with example.
c)  Write note on ERD.
d) Explain System Requirement Specification
e) What is system? Explain different types of system.
04) Write short note on any four : [16]
a) Types of modules
b) Software Requirement specification
c) Unittesting
d) Risk projection
e) Black box testing
05) a) Solve the following case study : [8]

Indian Bank provides fixed deposit scheme through which people can
deposit money for a certain period of time. The bank pays interest for
this period and returns money when FD period is over. Interest rate
depends upon the period.

The depositer may choose to renew FD. The depositor may get loan
against deposits. A maximum of 75% of the deposit amount is allowed
as loan amount.

Consider the above case and Draw any two of the following diagrams.
i)  Draw ER diagram.
i)  Draw context level diagram.

iii) Draw first level DFD for system.
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b) Solve the following case study [8]
Consider a company which is offering certain discount on the total of
amount of purchase. If the purchase amount is > 10,000 and the customer
is making the payment within 10 days then 3% discount is offer on the
total invoice amount. If the total purchase amount is < 10,000 and the
payment is made within 10 days then the total of 2% discount is offer
and the total amount is < 5,000 and person is paying within 10 days, then
no discount is offer on the invoice. If the person is taking more than 10
days to pay then he has to pay full invoice amount.

i)  Draw decision tree

i) Draw decision table.

e
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Total No. of Questions : 10] SEAT No. :

P1097 [Total No. of Pages : 1

[4963] - 3030
T. Y. B.Com. (Vocational Course)
COMPUTER APPLICATIONS (Paper - V)
(2013 Pattern)

Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates:
1) Attempt any eight questions.
2)  All questions carry equal marks.
Q1) What do you understand by Management Information system?

02) Explain various types of websites with examples.

03) Explain Digital Signature in detail.

04) Explain Operational level and Strategic level of an organization.

05) Explain the List tag of HTML with its types and example.

06) Write a note on Web Content Management

07) Explain C2B and C2C models of E-Commerce.

08) Explain any five factors influencing web site design

09) What is CSS? Explain Internal CSS.

010) Explain web development process model with suitable diagram.

e
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Total No. of Questions : 4] SEAT No. :

P1098 [Total No. of Pages : 2
[4963] - 3031

T.Y. B.Com.
TAX PROCEDURE AND PRACTICES (Vocational)

Central Excise and Customs Duty
(2013 Pattern) (Paper - V)

Time : 2 Hours] [Max. Marks : 40
Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 20 words each (any five) : [10]
a)  What is mean by 'Excisable Goods'?
b)  Where the rates of Excise duty and Customs duty are provided.
c) Whatis meaning of 'Baggage'?
d) Explain the term 'Goods' under Central Excise?
e) What are the objects of 'CENVAT' Credit?
f)  What are the objects of W.T.O.?
g)  What are the duties of CHA?

02) Answer in 50 words each (any two) : [8]

a) Explain the term 'Assessable value' under customs Act? What are its
importance?

b) What is mean by 'CETA' under Central Excise?
c) Why it is important to study 'Customs Tariff Act'?

d) Write note on Exemptions available for small scale industries under Central
Excise.

PTO



03) Answer in 150 words each (any two) : [10]

a) Whatis mean by 'Bona fide Baggage'? Discuss various provisions relating
to 'Baggage’.

b)  Write note on 'Tariff value' and MRP, base valuation under Central Excise
Act?

c) What is mean by 'Person in charge'? Discuss procedure to be followed
by him at the time of 'Import' and 'Exports'.

d) What is mean by 'Duty-Draw back'? What are the rates of duty-
drawbacks?

04) Write long answer (any one) : [12]

a) What is mean by 'Bill of Entry' and 'Shipping Bill'? Discuss their types
and usages under Customs Act?

b) Whatis validity of Excise duty? What are the objectives? Which are the
various kinds of duties under Central Excise?

S
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Total No. of Questions : 3] SEAT No. :

P1099 [Total No. of Pages : 1
[4963] - 3032

T. Y. B.Com. (Vocational)

ADVERTISING, SALES PROMOTION AND SALES
MANAGEMENT (Paper - V)

Sales Management
(2013 Pattern)

Time : 2 Hours] [Max. Marks : 40
Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define the term "Sales managemet". Explain the objectives of sales managemet.
[12]
OR

What do you mean by recruitment? Explain the process of selection of a sales
personnel.

02) What do you mean by Sales Territory? Describe the factors to be considered
in allocation of sales territory. [12]

OR

What do you mean by Customer Relationship Management? Write different
elements of customer relationship management.

03) Write short notes (any two) [16]
a) Sales forecasting methods
b) Objectives of sales motivation
c) Types of sales quota

d) Qualities of a sales manager
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Total No. of Questions : 3] SEAT No. :

P1100 [Total No. of Pages : 3
[4963] - 3033
T.Y. B.Com.
ENTREPRENEURSHIP DEVELOPMENT (Paper - VI) (Vocational)
i)  Computer Application

ii)  Advertising, Sales Promotion and Sales management

(2013 Pattern)
Time : 2 Hours] [Max. Marks : 40
Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain any four types of entrepreneurs. [12]
OR

What are the relative merits and demerits of Joint stock company?

02) What is the procedure of registration of SSI? [12]
OR

Write a note on technical and economic feasibility of a project.

03) Write short notes on (any two) : [16]
a) M.LD.C.
b) Identification of opportunities for entrepreneurship
c) Developing entreprenuerial competencies

d) Any four entreprenuerial competencies

S
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Total No. of Questions : 4]
P 1100

[4963] - 3033
T.Y. B.Com.
TAX PROCEDURE AND PRACTICES (Vocational)

Entrepreneurship development and Project work (Paper-VI)

(2013 Pattern)
Time : 2 Hours] [Max. Marks : 40

Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 20 words each (any five) [10]
a) What do you understand by "Human Resource Planning"?
b) State the various stages of entreprenurial process.
c) Give the various forms of "Innovations".
d) What are the 'Methods of Research'?
e) What is the aim of 'Research'?
f)  Define 'Research'.

g) Give the definition of 'Entrepreneur’.

02) Answer in 50 words each (any two) [8]
a) What are the advantages of 'Scientific Research'?
b) Explain in brief the 'types of finances.
c) What are the sources of 'Information' and Data collection?

d) What do you understand by "Memorandum of Association" and "Articles
of Association"?



03) Answer in 150 words each (any two) [10]

a) Enumerate and discuss classification of Research.
b) Write a note on four 'P's i.e. Product, price promotion and place.
c) What are the characteristics of 'Computer' for use in 'Research'?
d) What challenges are generally faced by an entrepreneur?
04) Write long answer on (any one) : [12]
a) Explain in detail the formulation and need for a research design

b) Entrepreneurship is the 'life blood" of any economy. Comment on the

quotation and enumerate your views.

SR
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